Year 2 Maths Activity Mat: Autumn 1

Section 2

Isaac has 50p in his pocket.

He spends 20p.

How much money does he have left?

[ Y é )
Section 1 Section 3 Section 6
Tick the coins that add up to 26p. Put these numbers together.
+4=10
20 \\ 5 |-
+7=20
30 \\ 8 |- +5=7
10 // 7 = .
Section 7

~

.

Section 4
What is 3 more than 17?

How many sides does a square have?

A square has sides.

~

Section 5
Count back.

26, 24, 22, ) )

Section 8

Write a number statement for this sentence and work
out the answer.

Twenty-four add six equals
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Year 2 Maths Activity Mat: Autumn 1

Answers
[ [
Section 1 Section 3 Section 6
Tick the coins that add up to 26p. Put these numbers together.
6 |+4=10
=| 25
20 \\ 5 3 1 7e0
30 \\ 8 =| 38 2 +5=7
o
10 // 7 = 17
Section 7
How many sides does a square have?
Section 4
What is 3 more than 17? A square has 4 sides.
- 3cm 20
Section 2 ‘
ecion ]
- r Section 8
Isaac has 50p in his pocket. . _ .
He spends 20 Section 5 Write a number statement for this sentence and work
P P- Count back out the answer.
How much money does he have left? :
Twenty-four add six equals
26, 24, 22, 20 18 |,| 16

30p

24 + 6 =30
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é ) é )
Section 1 Section 3 Section 6
Tick the coins that add up to £1.34. Put these numbers together.
+9=13
90 \\ 4 |-
17 - =7
80 \\ 2 = 13 + =20
- y
40 // 3 = .
Section 7
How many sides do these shapes have?
( )
Section 4 A triangle has sides.
i ?
L | What is 12 more than 30 A rectangle has sides.
é Y
Section 2 ) ]
ec .
. r 1 | Section 8
Lily has 62p. .
She spends 10 Section 5 Write a number statement for this sentence and
P P Count back work out the answer.
How much money does she have left? :
Sixty-nine subtract three equals
65, 60, 55, ) )
G ~ - y
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Year 2 Maths Activity Mat: Autumn 1
Answers

w**

é ) [
Section 1 Section 3 Section 6
Tick the coins that add up to £1.34. Put these numbers together.
& |+9=13
90 \\ = | 94
4 17-| 10 |=7
80 \\ 2 = | 82 13+ 7 =20
o
40 // 3 |=[43
Section 7
How many sides do these shapes have?
Section 4 A triangle has sides.
i ?
L | What is 12 more than 307 A rectangle has sides.
3cm 42
o Y
Section 2 )
ec .
. r Section 8
Lily has 62p. .
She spends 10 Sectl,on 5 Write a number statement for this sentence and
P P Count back work out the answer.
How much money does she have left? :
Sixty-nine subtract three equals
65, 60, 55,| 50 45 || 40
52p 69 -3 =66
\ 7 o
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~

Section 1
Tick the coins that add up to £1.73.

~

Section 2

Ann has £1.50.

She spends 60p.

How much money does she have left?

Section 3
Put these numbers together.

8//40=

K3

. Vo |-

Section 6
43 - =40
25 + =45
16 - =9

s

.

Section 4
What is 17 more than 40?

Section 7
How many sides do these shapes have?

A hexagon has

A pentagon has

sides.

sides.

~

Section 5
Count back.

140, 130, 120, ) )

Section 8

Write a number statement for this sentence and

work out the answer.

One hundred and twenty-two add thirteen equals
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Year 2 Maths Activity Mat: Autumn 1 @
Answers

é ) é )
Section 1 Section 3 Section 6
Tick the coins that add up to £1.73. Put these numbers together.
43-| 3 |=40
8 // 40 |=| 48
25 +| 20 |=45
6 \\ 70 |=| 72 16-| 7 |=9
o v
4 \\ 60 |=| 6%
Section 7
How many sides do these shapes have?
( )
Section & A hexagon has| 6 | sides.
i ?
L | What is 17 more than 407 A pentagon has| 5 | sides.
3cm 57
o Y
Section 2 ) ’
ec .
r \ | Section 8
Ann has £1.50. .
Sectl,on 5 Write a number statement for this sentence and
She spends 60p.
Count back. work out the answer.

How much money does she have left?

One hundred and twenty-two add thirteen equals
140, 130, 120,(110 |,| 100 |,| 90

90p 122 + 13 = 135
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